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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-8

BfE) | GEBERTIC (7)) | EBRE (EA/#K) | EREE (B/R) | X8 EFE

08:35 268 150.0 2.583 5| FHA@08:35 KENFEF (RAfEEIEE)
09:30 268 150.0 2.583 | FiHfe09:30 KEFEF (KRFERES)
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12:15 268 150. 0 2.583 g FiHfe12:15 KRHEEF (CREERS)
13:05 268 150. 0 2.583 E(  FiHRe13:05 KEFEF CGRAEREE)
13:55 268 150. 0 2.583 F|  FiHAe13:55 KREFEF (GRF{EREEE
14:50 268 150.0 2.583 | FHAe14:50 KEEF (KAERESE)
15:55 268 150.0 2. 583 5| FEAe15:55 KEFEFE CGRAHEESE)
2it] 2412.0 (9%) 1350.0 3203 %EC: 2080.0, PH: 6.0

RE X B TRECHUR B oK.
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FRV (ml plant-1)

ET (ml/hr/plant)

P3-8_0, Day=66 (2025-06-03)
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P3-8

BfiE) | GEBATK (RY) | EHRE (EA/K) | ERERE (B/R) | XS R
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24t 3276.0 (12)%) 1800. 0 32 KEC: 2080.0, PH: 6.0

ERGEBLRT 4K (600) 5THA (273. 0) R FF, FREH T & MREEZRS % XIER
ZRIA KPR EBE330. 0 ml.
H#EEIRECZE (1907. 0 vs 4945.0) 535



FRV (ml plant-1)

P3-8_0, Day=65 (2025-06-02)
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P3-8

BfiE) | GEBATK (7)) | ERE (BEH/f) | ERERE (B/R) | XS e

09:50 273 150. 0 2.583 |Z=&| 1BRi&e09:50 Bzl (RAERE)
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14:15 273 150.0 2.583 FA| {Ri%e14:15 Bz CGRAEEE)
2it]1365.0 (5%) 750.0 32 KEC: 2080.0, PH: 6.0

[E;&EC 5432.0 K5, EiNF{KECAR&M%ER
#H[EKECE (2007.0 vs 5432.0) 15
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